EARAROBEEIERT — 2 N— IBISH —F

2017547168 (B) 2EKR2H

KW C2+—# 5% —MH (xwlm | memml - |y ) oo mE
[A&E4£] 1 7 :200,000 @ 2 3 :40,000 @ 3% :20,000H  43%:14,000H 57 :6,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . LA EA : -3-3- — FEE= (BE
1 4| VIAILHLR it 4 7 1.(2_7).1 3-3-3-2 |41.3 1 (4:2) jc/aaa}jgﬁ
LixiAnq/O— B:eErIDIH mE BE
N B4 | AKIBE 1:27.2 1-1-1-1 | 42.2| — 3 a1 | RINEE (KiR)
2 3 IN— KRN B — 54.0 (1/2) (-5) KEEETF
R8T Bi=yA=TalUvy HEHAS
e — = IhRE :27. —4-5- . — HRIEZRI (KR
311|915z 5 30 Sk e R R A
RFFHARFFLT B by TITELC b Prtier
S # 5 | BRERE 1:27.7 4-5-4-3 |41.8| — 5 444 | 1EEEEB] (OKIR)
4155 HZIg 7 56.0 (2 1/2) (+3) FREB ’
LNnN—E>Trv— BEXR)—FIXZ2AIL BpEEUE e
TS 4 4 | KIFE 1:28.1 2-2-2-3 | 42.3| — 9 441 | WERAN (BRE)
5/8/g| FTZ71F— 54.0 (2 1/2) () |WEBWF
LT RIAVTy X B:T7 =LY FREHS
.= . | ARER R :28. -8-8- . — \#AZEER (KR
6lalolmsry hESTT H 5 e 1(23&36 8-8-8-8 | 40.2 2 (4_716) /ﬂ;g;-;
LIAY>FEaT BXA/ IR v [SE 8-S
“es . BRERE : —7-7- - BAAER] (KIR)
7 NP YIDES o4 o= 1(.12/82.>7 7-7-7-7 | 41.3 8 <4+719) %ﬁmﬁm
L5270 4— B:O—-XFvy b= HET7—L
N R $aKE . S — TIiEmE (B&E)
alzl7| x1vamnzx it 4 K 1.(279).9 5-6-6-6 | 43.6 6 <3+816) T
RiALNTyTItE B:ixAY39IEFRX pPNCLie]
=5 4 5 | ERRE 1:32.7 9-9-9-9 |43.8| — 7 442 | /INEEEAE (BEFRE)
9 2| NFTTYT 56.0 (44 4) (-4) | FLAIFE
¥+ T7R70—7 B:IHTT7597 Elakie]
® I—F—@EBIERL
13—7F— 3,8,4,5,7,1,6,9,2
Ao=5"= 3,8,4,1,5,7,6,9,2
3T—7— 3,8,4,5,1,7,6,9,2
40—F— 3,4,(1,5,8),7,6,9,2
[ N5
B 4 1704 794K 3-4 210 & 3-4 370 &R 1-3-4 970M
7 B 4 120 1-4 201 | | BB = 3-4 480/ | | EE 4-3-1 2,650
3 170 1-3 710 B H 4-3 630M
1 250

ABICOVWTRDTEEERROODE. TR LIV,




